Cycle 5112.1: Multiplet Diffs
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W] Mean: -0.0012 +/- 0.0069
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Cycle 5112.1: Multiplet Asyms

- ==0ff Stats=:
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Cycle 5112.1: Multiplet Sums
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Mean: 37.2808 +/- 0.0268 . ® - Mean: 9.5625 +/- 0.0076
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Cycle 5112.2: Multiplet Diffs
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==0ff Stats=;
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Cycle 5112.2: Multiplet Sums
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Mean: 37.8390 +/- 0.0278 Mean: 10.0020 +/- 0.0108
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Cycle 5112.3: Multiplet Diffs
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Cycle 5112.3: Multiplet Sums

on

Mean: 37.1338 +/- 0.0424

Chi2 / NDF: 1539.6603 / 3
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Cycle 5112.4: Multiplet Diffs

==0ff Stats=:
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Cycle 5112.4: Multiplet Asyms

==0ff Stats=:

Chi2 / NDP. 2.4444 [ 1
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Cycle 5112.4: Multiplet Sums

Mean: 35.9515 +/- 0.0981
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Cycle 5112.5: Multiplet Diffs Cycle 5112.5: Multiplet Sums

==0n Stats=; = ==0ff Stats=; ———a——
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Cycle 5112.5: Multiplet Asyms

==0ff Stats=:
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Cycle 5112.6: Multiplet Diffs

==0n Stats=: _* ==0ff Stats=:
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Cycle 5112.6: Multiplet Asyms

Chi2 / NDF: 10.0251/6
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Cycle 5112.6: Multiplet Sums
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Mean: 37.2012 +/- 0.0254 - Mean: 9.6044 +/- 0.0059
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Cycle 5112.7: Multiplet Diffs
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Cycle 5112.7: Multiplet Asyms
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Cycle 5112.7: Multiplet Sums
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Mean: 37.4197 +/- 0.0338
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Cycle 5112.8: Multiplet Diffs

==0ff Stats=;

-L Mean: 0.0090 +/- 0.0064

Chi2 / NDF: 5.9578 / 7
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Cycle 5112.8: Multiplet Asyms
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Cycle 5112.8: Multiplet Sums

on g off
Mean: 38.3986 +/- 0.0220 —o- Mean: 10.1960 +/- 0.0065
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Cycle 5112.9: Multiplet Diffs

On Stats=: ==0ff Stats=:
0 610 +/- 0.0159 —-— Mean: -0.0066 +/- 0.0067
Chi2/ NDF..S 3354-1_7_ Chi2 / NDF: 8.6255 / 10
_02_
_04_
-06|—
-0.8 _+_
= P T S
L — r =
T I ST e « TN B T T
0 2 4 6 8 10 12 14 16 18

0

—-0.005

—0.01]

-0.015

-0.02

-0.025

-0.03

—-0.035

—-0.04

Chi2 / NDF: 55833/ 7

Cycle 5112.9: Multiplet Asyms
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Cycle 5112.9: Multiplet Sums

35| Mean: 36.4398 +/- 0.0266 —o—

Chi2 / NDF: 681.0515/ 7
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==0ff Stats=;
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Cycle 5112.10: Multiplet Asyms
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Cycle 5112.10: Multiplet Sums

on = off
Mean: 35.7085 +/- 0.0230 Mean: 9.3146 +/- 0.0063
-
Chi2 / NDF: 352.3481/ 7 Chi2 / NDF: 1327.1554 / 11
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Cycle 5112.11: Multiplet Diffs

N ==0ff Stats=:
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Cycle 5112.11: Multiplet Asyms
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Cycle 5112.12: Multiplet Diffs Cycle 5112.12: Multiplet Sums
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Cycle 5112.12: Multiplet Asyms

==Off Stats=
0= == =3
fean:'-0.0297 +/- 0.0013 ! _H_ —gi-| Mean: 0.0001 +/- 0.0002
Chi2 / NDF: 0.4848 /1 Chi2 / NDF: 18.7599 / 17
—0.005F
-0.01—
-0.015—
-0.02f—
-0.025—
E 1
= ==
-0.03F T
r -
Ev v ol by v by b by vy by b v by By vy e
0 2 4 6 8 10 12 14 16 18 20



Cycle 5112.13: Multiplet Diffs

M aiagacy
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Chi2 / NDF: 14.0358 / 9
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Cycle 5112.13: Multiplet Asyms
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Cycle 5112.14: Multiplet Diffs

Chi2 / NDF: 1.4671/3
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==0ff Stats=;

Mean: 0.0066 +/- 0.0044

Chi2 / NDF: 22.9613 /21
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Cycle 5112.14: Multiplet Asyms

==0ff Stats=:

Mean: 0.0002 +/- 0.0002
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Cycle 5112.15: Multiplet Diffs

-Off Stats=:
Mean: 0.0017 +/- 0.0039
Chi2 / NDF: 0.6587 / 1 Chi2 / NDF: 22.2424 / 26
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Cycle 5112.15: Multiplet Asyms
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Mean: 31.4476 +/- 0.0618 Mean: 8.4381 +/- 0.0049

Chi2 / NDF: 104.2055 / 1 Chi2 / NDF: 31766.7997 / 26
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Cycle 5112.16: Multiplet Diffs

==0ff Stats=;

Mean: -0.0019 +/- 0.0054

Chi2 / NDF: 8.4729/ 14
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Cycle 5112.16: Multiplet Asyms

==0ff Stats=:

Mean: -0.0001 +/- 0.0002

Chi2 / NDF: 5.0836 / 7 Chi2 / NDF: 8.4729/ 14
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Cycle 5112.16: Multiplet Sums

35| Mean: 35.8126 +- 0.0218 -o- Mean: 8.3878 +/- 0.0069
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Cycle 5112.17: Multiplet Diffs

Chi2 / NDF: 22.8850 / 6
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Cycle 5112.18: Multiplet Diffs
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Cycle 5112.18: Multiplet Asyms
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Cycle 5112.19: Multiplet Diffs

Chi2 / NDF: 9.9092 / 3
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Cycle 5112.20: Multiplet Diffs

==0ff Stats=:
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Chi2 / NDF: 15.6399 / 4

Cycle 5112.21: Multiplet Diffs
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==0ff Stats=;

Mean: 0.0063 +/- 0.0052

Chi2 / NDF: 12.2236 / 16
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Cycle 5112.21: Multiplet Asyms

==0ff Stats=:

Mean: 0.0002 +/- 0.0002
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Cycle 5112.22: Multiplet Diffs

==0ff Stats=:
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Cycle 5112.22: Multiplet Asyms
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Cycle 5112.23: Multiplet Diffs

==0ff Stats=;

Mean: 0.0015 +/- 0.0050

Chi2 / NDF: 21.6316 / 20
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Cycle 5112.23: Multiplet Asyms

22

==0ff Stats=:

Mean: 0.0001 +/- 0.0002

=

Chi2 / NDF: 0.0000/0 Chi2 / NDF: 21.6316 / 20
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Cycle 5112.23: Multiplet Sums
on Off
30 Mean: 33.4821 +/- 0.0879 Mean: 4.9896 +/- 0.0076
Chi2 / NDF: 0.0000/ 0 Chi2 / NDF: 497417.3159 / 20
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Cycle 5112.24: Multiplet Diffs

==0ff Stats=: ==
35 —=
Mean: -0.0010 +/- 0.0061 Mean: 35.0904 +/- 0.0572 Mean: 9.9269 +/- 0.0084
Chi2 / NDF: 11.7062 / 14 Chi2 / NDF: 213.9556 / 1 Chi2 / NDF: 1723.5979 / 14
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Cycle 5112.24: Multiplet Asyms

==Off Stats=:
Mean: -0.0000 +/- 0.0002
Chi2 / NDF: 11.7062 / 14
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Cycle 5112.25: Multiplet Diffs

Chi2 / NDF: 0.4998 / 1

On Stats=:
O (wemreemremgerere oy {m——iy

==0ff Stats=;

Mean: -0.0071 +/- 0.0085

Chi2 / NDF: 13.3991/ 5
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Cycle 5112.25: Multiplet Asyms

Cr% /NDF: 0.0037 / 1

==0ff Stats=:

Mean: -0.0003 +/- 0.0003

Chi2 / NDF: 13.3991/5
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Mean: 32,8460 +/- 0.0650 ——®—— Mean: 7.6694 +/- 0.0096
30 Chi2 / NDF: 192.0193 /1 Chi2 / NDF: 540.7165 / 5
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Cycle 5112.26: Multiplet Diffs

==0n Stats=;

|—ian=—0.7599 +/- 0.0240
T

-0.1| chi2/NDF: 8.4308/2

==0ff Stats=;

Mean: -0.0105 +/- 0.0067

Chi2 / NDF: 4.4103/8
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o|Fzmmeon s - I ==Off Stats=
E =0.0277 +/- 0.0009 - N Mean: -0.0004 +/- 0.0002
~0.005 L Chi2 / NDF: 11.9465/ 2 Chi2 / NDF: 4.4103 /8
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30 Mean: 29.4903 +/- 0.0429 Mean: 1.2919 +/- 0.0117
Chi2 / NDF: 21032.3454 / 2 Chi2 / NDF: 87030.1849 / 8
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